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QUESTION 1

Which two files must you copy from the Oracle home of the database that is being upgraded to the new Oracle home for
Oracle Database 12c? (Choose three.)

A. the thsnames.ora file

B. the sglnet.ora file

C. the initialization parameter file
D. the password file

E. the listener.ora file

Correct Answer: ABE

References: https://docs.oracle.com/cd/E11882_01/server.112/e23633/afterup.htm#UPGRD52747

QUESTION 2

Which two can be used to create and populate a table from the contents of a textual flat file? (Choose two.)
A. Use CREATE TABLE ... AS SELECT from an ORACLE LOADER type external table.

B. Use SQL*LOADER conventional path load.

C. Use SQL*LOADER direct path load.

D. Use DATAPUMP import.

E. Use CREATE TABLE ... AS SELECT from an ORACLE DATAPUMP type external table.

Correct Answer: BC

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14215/Idr_concepts.htm

QUESTION 3

Which two statements are true about the logical storage structure of an Oracle database? (Choose two.)
A. An extent contains data blocks that are always physically contiguous on disk.

B. An extent can span multiple segments.

C. Each data block always corresponds to one operating system block.

D. It is possible to have tablespaces of different block sizes.

E. A data block is the smallest unit of I/O in data files.
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Correct Answer: DE

QUESTION 4

Your database is configured for ARCHIVELOG mode, and a daily full database backup is taken. RMAN is configured to
perform control file autobackup.

In which three scenarios do you need media recovery? (Choose three.)
A. loss of all the copies of the control file

B. loss of all the inactive online redo log group members

C. loss of a data file that belongs to the active undo tablespace

D. loss of data files that belong to the SYSTEM tablespace

E. logical corruption of data that is caused by a wrong transaction

F. abnormal termination of the database instance

Correct Answer: ACD

QUESTION 5

Identify three scenarios in which you would recommend the use of SQL Performance Analyzer to analyze impact on the
performance of SQL statements.

A. Change in the Oracle Database version

B. Change in your network infrastructure

C. Change in the hardware configuration of the database server

D. Migration of database storage from non-ASM to ASM storage

E. Database and operating system upgrade

Correct Answer: ACE

Oracle 11g/12c makes further use of SQL tuning sets with the SQL Performance Analyzer, which compares the

performance of the statements in a tuning set before and after a database change. The database change can be as
major or minor as you like, such as:

*

(E) Database, operating system, or hardware upgrades.

*
(A,C) Database, operating system, or hardware configuration changes.
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Database initialization parameter changes.

*

Schema changes, such as adding indexes or materialized views.

*

Refreshing optimizer statistics.

*

Creating or changing SQL profiles.
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